Hypothesis Testing
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ESSAY. Write your answer in the space provided or on a separate sheet of paper.

1) A researcher claims that the proportion of smoki
adults in this town yeilds 96 smokers. Can you
adults in this town is greater than 34%?

ng adults in a town is less than 34%.

A random sample of 233
conclude at 5% significance level, the

proprtion of smoking

(i) State the null and alternative hypothesis.
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(ii) FInd the sample proportion of smoking adults,
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(iii) Calculate the test statistics,
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(iv) Find the p- value.
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(v) What is your conclusion?
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3) A manager claims that the proportion of male wokers in his company is 0.65. There were 336 male workers
among 490 sample of workers, At 1%

o significance level, can you conclude that the proportion of male workers
differes from 0.65?
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Check  using  cConfidence indervals.
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Thie  tnterval includes  5.65.



